## RESOLUTION NO. 26-94 CITY OF CENTERVILLE, OHIO

SPONSORED BY	COUNCILMEMBER	Selly Beels	ON THE
28th_	DAY OF	Felovoer	, 1994.

A RESOLUTION ACCEPTING PARTS OF BIDS SUBMITTED BY TERRA INTERNATIONAL, INC., CANNON TURF SUPPLY, INC., AND GEORGE W. HILL & COMPANY, INC. FOR CHEMICALS FOR YANKEE TRACE IN THE CITY OF CENTERVILLE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO CONTRACTS IN CONNECTION THEREWITH.

WHEREAS, the City advertised for bidders for chemicals for Yankee Trace Golf Course in the City of Centerville, pursuant to specifications prepared by the City; and

WHEREAS, Terra International, Inc., Cannon Turf Supply, Inc., and George W. Hill & Company were the lowest and best bidders for chemicals as specified.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

SECTION 1. That part of the bid submitted by Terra International, Inc., marked Exhibit "A", attached hereto and made a part hereof, is hereby accepted for the following chemicals:

Alliette	23	cases	\$ 6,466.68
Banner	12	cases	10,512.00
Confront	2	cases	622.00
Daconel 2787	45	cases	6,300.00
Dursban	3	cases	1,170.00
Oftanol	7	cases	2,003.75
Cheleted Iron	8	cases	212.00
a total cost of	\$27,286.	43.	

SECTION 2. That part of the bid submitted by Cannon
Turf Supply, Inc., marked Exhibit "B", attached hereto and made a
part hereof, is hereby accepted for the following chemicals:
Subdue 24 cases \$17,688.00
Aquashade 3 cases 315.00

for a total cost of \$18,003.00.

SECTION 3. That part of the bid submitted by George W. Hill & Company, Inc., marked Exhibit "C", attached hereto and made a part hereof, is hereby accepted for the following chemicals:

MCPP 3 cases \$ 176.10 2, 4D + MCPP 20 cases 1,732.00 Sevin 3 cases 311.25 Spray Dye Indicator 10 cases 956.00 for a total cost of \$3,175.35.

SECTION 4 The City Manager is hereby authorized and directed to enter into any necessary contracts to evidence acceptance of said bids and to make payments pursuant thereto.

PASSED this 28th day of February

1994.

ATTEST:

Clerk of the Council of the City of Centerville, Ohio

### CERTIFICATE

The undersigned, Clerk of the Council of the City of Centerville, Ohio, hereby certifies that the foregoing is a true and correct copy of Resolution Number 20-94, passed by the Council of the City of Centerville, Ohio, on the 28-44 day of February, 1994.

Clerk of Council

Mayor of the City of Centerville, Ohio

Approved as to form, consistency with the Charter and Constitutional Provisions.

Department of Law

Robert N. Farquhar Municipal Attorney

EVI	IBIT	"A"
- FIH		17
LAL	LULI	



# Professional Products Quotation @ Terra

Bill to: City of Centerville Ship to: Vankee Trace 6. C.

Customer #:

Address: 100 W. Spring Valley Rd Address:

Centerville, Ohio 45458

Contact:

This quotation is valid only from to \_\_\_\_\_.

Delivery Dute Product Delivery Vis FO.B. Terms

Quantity Product Product Product Size Price Size Amount

Allette 2×11 12.78 16 646668

Delivery Date Pr	omised	Delivery Via	F.O.B.		[ans	
Quantity Ordered	Product Code	Product Description	Package Size	Unit Price	Unit Size	Total Amount
23		Aliette	2×11	12.78	16	6466.68
1.2		Banner	4×1	a19.00	gal	10512.00
2		Contront	4×1	77.75	gal	622.00
20		Thalonil 90 DF	4×5	7.00	16	2800.00
3		Dursban 4E	Z×2.5	78.00	gal	1170.00
3		Mecomec (MCPP)	2x25	20,40	gal	306.00
7		Oftanol	2x2.5	57.25		200372
24		Subdue	4×1	189.00	1 2	18 144.00
8		Ferromec AC	2×2.5	5.30	gal	212.00
12.5		(Spray Dye) TErramark SPI	4×1	a4.00	1 2 .	1200.00
3		Aquashede	4x1	37.85	"	394.20

White copy: Customer

Yellow Copy: Warehouse Secretary

Pink copy: Sales Rep





BID INFO SHEET THALONIL 90 DF VS DACONIL 2787

THALONIL IS A 90% MATERIAL COMPARED TO DACONIL 2787 WHICH IS 40%, THEREFORE, LEES CASES AND CONTAINERS ARE REQUIRED

THALONIL IS A DRY FLOWABLE PRODUCT COMPARED TO DACONIL 2787 WHICH IS A FLOWABLE. THEREFORE, THALONIL IS MORE ENVIRONMENTALLY FRIENDLY. ONE DOES NOT HAVE TO WORRY ABOUT SPILLING THALONIL, SINCE A SPILL CAN BE EASILY SWEPT UP AND RETURNED TO THE CONTAINER. DRY FLOWABLE CONTAINERS ARE NOT REQUIRED TO BE TRIPLE RINSED AND THEREFORE ONE HAS LESS CONTAINER DISPOSAL ISSUES. BECAUSE THE PRODUCT IS NOT A LIQUID THERE IS MUCH LESS DIRECT EXPOSURE TO THOSE HANDLING THE PRODUCT.

THE THALONIL 90DF LABEL IS ATTACHED.

12840 FORD DRIVE FISHERS, INDIANA 46038 317.845.1987 OR 800.966.1987 5104 THATCHER ROAD DOWNERS GROVE, ILLINOIS 60515 708.852.3200 QUOTATION

City Manager, City of Centerville

TO "Yankee Trace Chemical Bid"

Yankee Trace Golf Course
100WSpring Valley Rd

Centerville, OH 45458

QUOTE DATE February 15, 1994

THIS QUOTATION IS VALID FROM February 18

10 April 18, 1994

TERMS \_\_\_\_\_

DELIVERY DATE P	ROMISED	DELIVERY VIA	FOB		
QUANTITY ORDERED		DESCRIPTION		UNIT PRICE	TOTAL AMOUNT
23 cs	Aliette W	dg	2x11#	\$292.50	\$ 6,727.5
12 cs	Banner	200	4x1 ql	884.00	10,608.00
2 cs	Confront		4x1 gl	329.00	658.0
45 cs	Daconil 2	787 F	2x2.5 gl	177.00	7,965.00
3 cs	Durskan		2x2.5 gl	410.00	1,230.00
3 cs	MCPP		2x2.5 gl	82.50	247.5
7 cs	Oftanol		2x2.5 gl	295.00	2,065.00
3 cs	Sevimol (	Sevin)	2x2.5 gl	105.00	315.0
24 cs	Suldue		4x1 gl	737.00	17,688.0
3 cs	Aguashade	(Sul) Lake Blue	4x1 al	105.00	315.00
8 cs	Turf Pro		2x2.5 gl	28.00	224.00
10 cs	Blazon (S	pray Pattern Indicato			1,830.00
20 cs	Dissolve	(2,4D+MCPP=2,4DP)	10×2.5#	98.00	1,960.00
	(Alternat	e to 2,4-D+MCPP)			
	Turf Pak	Pricing*			
3	Banner Tu	rf Pak	15 gl	3,600.00	10,800.00
6	Suldue 7u			,850.00	17,100.00
	*Must pur	chase a minimum of			
		Turf Paks to receive	price	973.50	
		must take delivery by			

SALES REPRESENTATIVE

AUTHORIZED BY

DATE



#### BID

## YANKEE TRACE GOLF COARSE CHEMICALS

1. ALLIETTE 2/11 LB	23	CS	290.20	CS	6674.60
2. BANNER 2/GAL CS (48 GAL)	24	CS	460.00	CS	11,040.00
3. CONFRONT 4/GAL	2	CS	335.20	CS	670.60
4. DACONIL 2787 2/2.5 GAL	45	CS	169.00	CS	7605.00
5. DURSBAN 4E 2/2.5 GAL	3	CS	410.40	CS	1231.20
6. MCPP 2/2.5 GAL	3	CS	58.70	CS	176.10
7. 2, 4D + MCPP 2/2.5 GAL	20	CS	86.60	CS	1732.00
8. OFTANOL 2/2.5 GAL	7	CS	292.00	CS	2044.00
9. SEVIN/SEVIMOL 2/2.5 GAL	3	CS	103.75	cs	311.25
10. SUBDUE 4/GAL	24	CS	741.00	CS	17,784.00
11. AQUASHADE 4/GAL	3	CS	129.55	CS	388.65
12. CHELATED IRON 2/2.5 GAL	8	CS	27.00	CS	216.00
13. SPRAY DYE INDICATOR 4/GAL	10	CS	95.60	CS	956.00
GRAND TOTAL					50,829.20

ITEM 2 BANNER - NOW PACKED IN 2/1 GALLON CASE. BANNER SHIPPED AFTER 4/29/94 IS 480.00 PER CASE.

ANY QUESTIONS REGARDING THIS BID SHOULD BE DIRECTED TO DOUG HILL AT 1-800-354-9712.

